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(i) Social Value & Business.

A afam Td Faadl
(i) Give full form of FEMA.

Far 9= H R At

(iv) What do you mean by Industrial Sickness.

A v ¥ oY T G &7

(v) What is meant by economic policy?

o f Bl Fea €7

(vi) Write two importance of economic planning.

ol e & @ #ewd farad)
(vii) What do you mean by poverty in Plenty?

T & afEar ¥ 9 aned 87

(viii) Define Balance of Payment.

AR Fe B g T

Section-B
(Short Answer Questions)
gus-4
(g Sl u)

Note: Answer any 4 questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
4x8=32
e Bl g uwl B S A ST IR I i AT
200 1= ¥ GRKAFE HTC TIF T 8 I H
4%x8=32
(2) M.COM-02/700/ 4

e}

Discuss the impact of cultural environment on
Business.

Hieps amEE B @EEd T 9 arl gWIE B a0
B :
Describe the main provisions of Factory Act 1948.
FregFT ARG 1948 & T AEHE Sl
Differentiate between FERA & FEMA.

B T B H SRR Tt

Write a note on Human resources in India.

ARE § AFE GO W 0 o9 e

Explain the basic characteristics of economic planning.
it Frew 1 e v JaRw

What steps is taken for development of small scale
industries by government?

&%wwﬂaw%mﬁﬂ@ﬂa%ﬂﬁaﬂ

istics and impact of globalisation.

Yoo 1 RSt ©d SEE F AU BT
Discuss the organisational structure of WTO.
Rivg R @6 & WSS @a P U Bl
Section-C
(Long Answer Questions)
gUs-dq
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